JCZIKV X8k

C B 8 % - W E HIE

MR FGeneral Drawing

22 20 21 18 14

— \WWW.jczkv.com 01



- BhiEbiE a1+

10

12

20

13

15

21

23

14

16

17

18

19

11

22

24

25

E?T%%E?ﬂ

Indicator Screw
ARt
Indicator
WiE
Axle Block

ERBA

Metal Gasket

S

QOuter GGasket

AR

Inner Gasket

LT EE
Upper Shaft Support Ring

T EE
Lower Shaft Support Ring
e R
Piston Support Ring
LHORIE
Upper Shaft O-nng
THOZLE
Lower Shaft O-ring
a5 iR O2LE
Adjusting Bolt O-ring
im=08LE
Piston O+ing
i 2 O [
End Cap O-ring

3k
Match Head

125

Nut
E TR

Adjusting Bolt
Nt
Piston

=

Piston Guide

AR

Cylinder

UERRRoS

Adjustment Block

4
AXIS
SHEE

Spring

il
i 5

End Cap
s o o (1] SRS

End Cover Fastening Bolt

EH

Plasti

2B

T i T
Hiastc

A

Stainless Steel

A5

oy, PR [PRCGE o T ey |
olainiess oieel

TEEH

Engineering Plastics

TiEEEH

Engineering Plastics

TiEEH

Engineering Plastics

THEEH

Engineering Plastics

TELHE

Engineering Plastics

T B R
Nitrile Rubber

T IRBR

Nitrile Rubber

T BRI
Nitrile Rubber

TR

Nitnle Rubber

TR

Nitnle Rubber

THBHBRER
Nitrile Rubber

A5

Stainless Steel

A5

Stainless Steel

EEES

Die-cast Aluminum Alloy

TiEEH

Engineering Plastics

Ek=]

Aluminum Alloy

R
Carbon Steel

i

o K - =7 5 g Fn T ol
arbon oleel

SRS

Spring Steel

[EFRE

L)l—- asSi .-""'njl ”-]Er' Il |\':'L"||"’\ j

%i%@

Stainless Stee

IR

Hard Oxidation

BRRAL

Hard Oxidation

Dipping

AR

Powder Coating

Focus On Automatic Control Valve Production |

SIEESIE T

BRRAERE
Viton/silicone rubber
BIRBUER B
Vitorvsilicone rubber
BERER R
Viton/silicone rubber
‘ﬁ*%ﬁs?fﬁﬁ%ﬁi
\I'J'Ih.-\._}i" lcone rubber

AR ‘fﬁ;tT% R

Viton/silicone rubber

BB RAEG R
Viton/silicone rubber

02 wwwjczkv.com




JCZKV REIaR

L R 8 F

TIFRE

WX {EFB1T8& Double Acting Actuator

-@- &

}—f"l—:: !

AORS, EREZSENBERINED), FEHRITHRED
imiEAETErhEsS (0°-90°) , BOHES.
BOHS, EREZ=ES#ENBZERAANIZD, (EHTR%H
WmIRATEThe%e (90°-0°) , ACHES.

A port enters into the air, the compressed air pushes the piston
outward to make the actuator output shaft rotate counterclockwise
(0°-90%), and the B port exhausts. B port intakes, the compressed

- r e e . starcarrl i rra e e T T R ST S
-:_'i” l'l_l w] | ot i e .':-_" LB inwarga LL. B = | % |.rl-':' -l_‘u{_...l.'_"_]-._-': "!!i._%._'-.: =18=11
rotaie clockwise (YU -U7 ). and the A Dort exnausts

E{EMRMITER Single-acting Actuator

B [

BEER) BEER)
Al b Alb

0° 0°

Alill_% ERE[REET, EIEERINEE], #

{Teel b MEATErIERE (0°-90°) , BOHES, HAfTEEK
’:ﬁ, mEEHRENNFR TREREE, #1785 &R
B ET3ea0 (90°-0°) , AOHES.

po npressed ¢ 2I'CH Ing
[ h Iston ol rds., [pul ' (at
| (-5 nia 1l I L1 |
nd l MOV 1S unc the ' of 1
| e it shaft of I
' adt aus

wwwijczkv.com 03

® —®

AORS, EREZSENBERIMNED), EHRITHREL
WmIRETEThEEE (0°-90°) , BOHFS.
BOMS, ERESEMEFEQAREH, EHRITHRELH
imiEETErhEsE (90°-0°) , AOHES.

A port enters the air, and the compressed air pushes the piston
oufward to make the actuator output shaft rotate clockwise (0°-90"),

s L (T . L R . D
and the B port exhausts. B POIT INtakes, compressed air pusnes the
S . i 3 BN '3 - T i " i e ek hlL

- e il 1|.'-_!|_=__-,r |.:_|;!_. Il cShnart roiate

]

{EE
HElE

[ ]
A b

0° 0°

I — |
oo

AORS, ERZESEREET], HEIEERINED],
iTEgtE HAmImAT £T RS (0°-90°) , BOHES,; T8k
], AEEHEDFER FRAAEE], 1T858 HIEE
BIEr#%al (90°-0°) , ADOHES.

por | [ mpré aC | [COme [ in f "
she t utwards ctuator ol s
locl d the B aust jat
| | Jownwart he e
the ity I ua
na t |



Focus On Automatic Control Valve Production |

T EREEE

TIFRE

WAE B 6 73%E Double acting output Torque

A HHE
Qutput Torque
0
/ Rotation
ﬁ >
0F 45° 90°
S moae &3ERE ] Air Pressure(Unit:bar)
2

AT-32 3 4 5 6 7 8 8 9 11 12
AT-40 5 6 7 10 11 12 13 14 | 7 19
AT-52 8 10 12 16 18 20 22 24 28 32
AT-63 15 18 22 29 33 36 40 44 51 58
AT-75 20 25 30 40 45 50 55 60 70 80
AT-83 31 39 47 63 70 78 86 94 110 125
AT-92 45 56 68 90 102 115 124 135 158 181
AT-105 66 83 99 132 149 165 182 198 231 264
AT-125 100 125 150 200 226 251 276 301 351 401
AT-140 171 214 256 342 385 427 470 513 598 684
AT-160 266 332 399 532 598 665 731 798 931 1064
AT-190 426 532 638 851 958 1064 1170 1277 1490 1702
AT-210 532 665 798 1064 1197 1330 1463 1596 1862 2128
AT-240 769 962 1154 1539 1731 1924 2116 2308 2693 3078
AT-270 1170 1462 1754 2339 2632 2924 3216 3509 4094 4679
AT-300 1526 1908 2289 3052 3434 3815 4197 4578 5341 6104
AT-350 2285 2856 3427 4570 5141 5712 6283 6854 7997 9139
AT-400 3256 4070 4884 6512 7326 8140 8954 9768 11396 13024

SWAERMITEERYIEE

EIEEERIEFRHT, WMERRITSEZERBNETERE20%-30%.
T~

W 17328=100Nm

ZEeNHE=100* (1+30%) =130Nm

SiEES1=5Bar

WERINERHER, HEIMERRITER/NAEIDAT05

Selection of double acting actuator:

Under normal operating conditions, the safety factor considered for double-acting actuators is 20%-30%
Example:

Valve torque=100Nm

Safety torque=100*(1+30%)=130Nm

Air pressure = 5Bar

Compared with the double-acting torque table, the minimum size of the optional double-acting actuatoris DA105

04 www.jczkv.com



PIERNILE

A
?“Hjjj%é -
Output Torque T pAp ]
Output Torque
P W 171 : . 175
B Rotation \ PROGRIDEE Rotation
N\
0° 45° 90° 0° 45° 90°

Springs’ Output

LT El #E Output Torque
SESpings O - -

HlEModel Spring Qty

K6 49 @25 . 109 @ 85 - | -1 -1 - - - - - ?.4 5.0

K7 | 40 | 13 | 60 33 | 98 | 73 140 (104 | - | - | - | - | - | - 8.6 59

SR-52 K8 - |- 5.2 20 | 92 | 60 [ 132 | 91 | 172 | 141 - - - - 9.9 6.7
K9 - | - | 43 08 | 83 | 48 | 123 | 79 | 163 | 128 | 203 | 168 | - - 117 76

K10 - - | - - 74 | 36 | 115 67 | 155 | 116 | 195 | 156 - - 124 85

Ki1n | - | - | - | - 66 | 23 | 106 54 | 146 | 104 | 186 | 143 | 226 183 136 93

K12 | - - - | - - - 97 | 42 [ 138 | 91 [ 178 | 122 | 218 | 171 148 102

K5 114 | 77 | 150 [ 114 [ 223 [ 149 | - | - | - | - e | == | e - 104 68

K6 101 | 57 | 136 | 93 | 209 | 166 | 283 | 239 | - | - - | - - - 125 82

K7 | 86 | 36 | 125 | 72 | 195 | 145 [ 268 [ 219 | - | - - | - | - 1 - 146 96

SR-63 K8 | - | - |109 | 51 [182 | 124 [ 255|198 [ 328 [ 270 [ 401 [ 343 | - | - 167 109
K9 - . - - 166 | 104 | 241 | 17.7 | 314 | 249 | 387 | 322 - - 188 123

Kio | - | - | - | - [ 14 | 82 [228 | 156 | 300 | 228 | 373. [ 301 | 447 [ 374 | 209 | 13%
K1 g . - | - | - - | 215|135 [ 287 | 207 | 360 | 280 | 433 [ 353 | 229 | 1500
Kiz | = | = | - | T T =1 -_1200]|172a |[T273 | 186 |.326 | 259 | 419 [ 333 250 it

K5 | 145|106 | 194 | 155 [ 295 | 295 | - | - | - | - - | - - - 145 105 H

K6 124 | 76 | 173 | 126 | 274 /274 | 375 [ 328 [ - | = | =T - [ - T = Bi7a8E"

K7 | 104 | 48 | 152 | 97 | 253 | 253 [ 354 (299 | - | - | - | - - - e 203 | 148

SR-75 K8 [T |n.- [131 ] 68 237|237 | 333 | 270 [327[7370 [T533 [470 | - | = [N
K9 - - - | - 210 | 210 [ 312 [ 241 | 411 | 341 | 512 | 442 | - - 261 - 190

P KI0 | = = | = | - _""19‘.'()__190 | 288 | 21.2 | 390 | 312 | 491 | 412 | 591 | 51.2 N290NN21.1

KiI1 [ = | = el o= | o= | 270 | 183 | 370 | 283 | 470 | 384 | 570 | 484 3190230

Ki2 | - | - | - | - | - | - 1249|154 | 349 | 254 | 449 | 354 | 549 | 454 347 253

K5 1233 161 | 311 | 240 468 | 397 | - - | - | - - | - | - - 230 158

K6 201 | 115 280 | 193 | 437 351 | 594 507 | - | - - | = [ - - 276 190

K7 | 170 | 69 | 248 | 148 | 405 | 305 [ 562 | 462 | - | - A — - 322 | 221

SR-83 K8 - | - 1217|107 374 | 258 [ 531 (415 [ 688 | 572 | 845 [729 | - | - | 368 | 253
K9 - R - - 342 | 213 | 499 370 | 656 | 526 | 812 | 683 - - [ 414 | 285

Kio | - | = [ = | = | 310 | 166 | 467 | 323 | 624 | 480 | 781 | 637 | 938 | 793 | 460 | 316

KiI1 = = | = | = | = | - | - [436 | 277 | 593 | 434 | 750 | 591 .| 906 | 74.8  PESOSINS4E

K12 | | = | = | =1 = 1 - [404 232 | 561 | 389 | 71.7 | 545 | 874 | 702 | 552 | 380

K5 | 331 1250 (442 | 3321 668 1558 [ = (D= == - = | = - 344 233

K6 284 | 152 | 396 | 264 | 622|490 (848 716 | - | - | - | - | -1 - 412 280

K7 1238 | 82 [349 | 194 | 575 | 421 /802 (647 | - | - [ - [ - | - | - [ESC SIS

SR-9? K8 | - | - | 313 [ 126|529 [ 352 [ 755 579 | 981 | 805 [1207 [1030| - | - | 550 | 373
K9 = - - - 482 | 284 | 709 | 510 | 935 | 736 | 1160 | 96.1 - - 619 420

KIo0 | - | - | - | - 1436 215 | 662 441 | 888 | 667 1113 | 892 1340 1118 | 687 467

KiI1 | - | - - | -] - - | 615 372 | 841 | 599 | 1066 824 | 1292 1050 | 756 514

Ki2 | - | - | - | - | - | - 1568304794 | 530 1019 | 755 [ 1245|981 | 825 @560

K5 510|334 675 499 (1006 /830 | - | - | - | - - |- - . 492 316

K6 | 447 235 611 | 400 | 942 | 732 (1273 1062| - | - - - - - 591 380

K7 | 384 137 | 549 | 303 | 879 634 [1210 94 | - | - - |- - - 689 443

SR-105 K8 | - | - | 485 | 204 816 | 535 |114.7 | 865 | 147.7 | 1196 1808 | 1527 | - - 787 506
K9 [ = | = [ - - | 753 | 437 |1084 | 768 | 1415 | 1098 1745 | 1429 | - -~ 886 569

Kio | - | - | - | - 1689|334 1020 66.5 1351 | 996 1682 | 1326 201.2|1657 | 984 633

Kin | - | - | - | -1 -1 - 957 | 570 1287 | 901 | 161.8 |123.1 | 1948 1562 | 1083 696

Kiz2 | - | - 1 - [ - - | - 1894 475 1225 806 | 1555|1136 | 1886 1467 | 1181 759

K5 73 | 47 | 98 | 72 | 148 | 122 - |- -1 - - | - ] - - 79 52

K6 63 | 31 88 56 | 138 | 107 | 188 | 157 | - | - - | - | - - 94 63

K7 | 52 | 15 77 40 127 | 9 | 178 | 141 | - | - - - - -~ 110 73

SR-125 K8 | - | - | e7 | 25 | 117 | 75 | 167 [ 125 | 217 | 176 | 268 | 226 | - - 125 84
K9 - -] -] - 107 | 59 | 157 | 109 | 207 | 159 | 257 | 210 | - - 141 94

KIo | - | - | - | - | 9 | 44 | 146 | 94 | 196 | 144 | 247 | 194 | 297 | 245 157 105

K11 | - | - | - | - | - 1 - 1136 | 78 | 186 | 128 | 236 | 178 | 286 | 228 173 | 115

Kl2 | - | - - - | - - | 125 | 63 | 176 | 113 | 226 | 163 | 276 | 213 188 125

K5 | 128 | 85 [ 171 | 127 | 256 | 213 | - | - [ - - - - - -~ 129 86

K6 | 111 | 59 | 154 | 102 | 239 | 187 | 325 | 273 | - - - - - - 155 103

K7 94 33 | 137 | 76 222 | 162 | 308 @247 @ - | - - | - - - 181 120

SR-140 K8 = = 120 50 | 205 | 136 | 291 221 | 376 | 307 | 462 | 392 - - 206 137
K9 & 8 - - 187 | 110 | 273 | 196 | 358 | 281 | 444 | 367 | - - 232 | 155

K10 - = - - 170 = 84 | 256 | 169 | 341 | 255 | 427 | 340 @512 426 258 172

K11 - 8 - - - - |1 238 | 143 | 324 | 229 | 409 | 314 | 495 | 400 284 189

K12 - = - - - - | 221 118 | 307 | 203 | 392 | 289 | 478 | 374 310 206

wwwijczkv.com 05



B{ERME e

&6 o # 2B Output Torque
=ESprings' Output | 25BAR 4BAR 6BAR 7BAR 8BAR

Springs’ Output

o mnmnmnmnmmmnmmﬂ
- tart

0193 | 124 | 259 | 191 | 392 | 324 140
K6 165 | 83 232 | 149 | 365 | 282 | 498 | 415 - - - - - - 250 168
K7 | 137 | 41 203 | 107 | 336 | 240 | 469 | 373 . - | - - - : 292 19
cr1eo K8 - - 176 | 66 | 309 | 199 | 442 | 237 | 575 @ 465 | 708 | 598 - - 333 223
K9 - - - . 280 | 157 | 413 | 290 | 546 | 423 | 679 | 556 - - 375 | 251
K10 - - - - 253 | 115 | 386 | 248 | 519 | 381 652 | 514 - - 417 279
K11 - - : - - - 358 | 207 | 491 | 340 | 624 | 473 | 785 | 647 | 458 @ 307
Ki2 | - - - - - - | 330 | 165 | 463 | 298 | 596 | 431 | 757 | 606 500 335
KS 1332 | 222 | 438 | 329 | 651 | 542 | - - - - - - 729 | 564 309 200
K6 292 | 161 398 267 | 611 | 480 | 824 | 693 - - - - - - 371 240
K7 252 | 99 358 | 205 | 571 | 418 | 784 | 631 - - | - - - - 433 280
e K8 : - 318 | 143 | 531 | 356 | 744 | 569 | 957 | 782 | 1169 | 995 - - 495 320
K9 - : - : 491 | 295 | 704 | 507 | 917 | 720 | 1130 | 933 - - 557 360
K10 - - - - 451 | 233 | 664 | 446 | 877 | 658 | 1090 | 871 | 1302 1084 | 618 400
K11 - - - : - - | 624 | 384 | 837 | 597 | 1050 | 809 | 1263 | 1022 | 680 | 440
K12 - - - - - - | 584 | 322 | 797 | 535 | 1010 | 748 | 1223 | 960 742 480
K5 390 | 285 | 523 | 418 | 789 | 684 | - | - . . : . : - 380 275
K6 335 | 209 | 468 342 | 734 | 608 | 1000 | 874 : - - - - : 456 330
K7 280 | 133 | 413 | 266 | 679 | 532 | 945 | 798 | - s | = | o= || = : 532 385
i s K8 - . 358 190 | 624 | 456 | 890 | 722 | 1156 | 988 | 1422 | 1254 - - 608 440
K9 - - - - 569 | 380 | 835 | 646 | 1101 | 912 1367 | 1178 | - : 684 495
K10 - == - 514 | 304 | 780 | 570 | 1046 | 836 1312 | 1102 1578 1368 = 760 550
K11 - - : : - - | 725 | 494 | 991 | 760 | 1257 | 1026 1523 | 1292 | 836 605
K12 § i - A " 670 | 418 | 936 | 684 | 1202 | 950 1468 1216 | 912 | 660
K5 552 | 409 | 744 | 600 | 1129 | 985 | - | - | - - - | - : - 554 410
K6 470 | 297 | 662 | 489 | 1047 | 874 | 1432 | 1259 | - - - - - - 665 492
K7 388 | 187 580 | 379 | 964 | 764 | 1349 | 1149 | - - - - . - 775 575
e A& - - | 498 | 268 | 883 | 653 | 1267 | 1037 | 1652 | 1422 @ 2037 | 1807 & - - 886 656
K9 . : : - | 800 | 542 | 1185 | 926 | 1569 | 1311 | 1954 | 1696 | - - 998 739
K10 - - - - 718 | 431 | 1103 | 816 | 1488 1201 | 1872 | 1586 | 2257 1970 | 1108 = 821
K11 - - - . : - | 1021 | 705 | 1406 | 1090 | 1791 | 1474 2176 1859 | 1219 = 903
K12 - - - : : - | 939 | 594 | 1323 | 979 | 1708 | 1363 2093 1748 | 1330 = 985
Ks | 903 | 675 | 1195 | 968 | 1779 | 1552 | - | - - - . - . - 787 560
K6 | 790 | 519 | 1083 | 811 1667 | 139 | 2252 | 1981 | - - - - - - 943 672
K7 679 | 361 | 972 | 654 | 1556 | 1238 | 2141 | 1823 | - | - ) - - - 1101 783
570 K8 - - | 80 | 497 | 1444 | 1081 | 2029 | 1666 | 2614 | 2252 | 3199 | 2836 | - - 1258 895
K9 - - - - 1332 | 923 | 1917 | 1509 | 2502 | 2094 | 3087 | 2678 | - | - 1416 1007
K10 - - . - 1220 | 767 | 1805 | 1352 | 2390 | 1937 | 2974 | 2521 | 3560 | 3107 | 1572 = 1119
K11 . - - - : - | 1693 | 1194 | 2278 | 1779 | 2862 | 2364 | 3448 | 2949 | 1730 @ 1231
K12 - - - - - - | 1582 | 1037 | 2167 | 1623 | 2751 | 2207 | 3336 | 2792 | 1887 = 1342
K5 1097 | 729 | - - : - . - - - . - - - 1061 730
K6 935 | 494 | 1316 | 875 & - - - - - - - - - - 1273 876
K7 772 | 258 | 1153 | 639 | 1916 | 1402 | - | - | - - - - . - 1485 1022
s B K8 - - | 991 | 403 | 1754 | 1166 | 2517 | 1929 | - - - - - - 1697 1168
K9 : - - - | 1592 | 930 | 2355 | 1693 | 3118 | 2456 : - - - 1909 1314
K10 - - : - | 1430 | 695 | 2193 | 1458 | 2956 | 2221 | 3719 | 2984 | 4482 | 3747 | 2122 = 1460
K11 : - - - . - | 2030 | 1222 | 2793 | 1985 | 3556 | 2748 | 4319 3511 | 2334 = 1606
K12 . - : : : - | 1868 | 986 | 2631 | 1749 = 3394 | 2512 4157 3275 | 2546 = 1752
K5 1553 | 964 | - - . - - - : 2 : z . : 1702 1173
K6 1292 | 586 | 1863 | 1157 | - - - - - - . - - - 2043 1408
K7 1031 | 208 | 1602 | 779 | 2745 | 1922 | - | - | - - - - s - 2383 1642
- K8 - - 1341 | 401 | 2484 | 1544 | 3626 | 2686 | - - - - - : 2724 1877
K9 - - : - | 2204 | 1165 | 3336 | 2307 | 4508 | 3449 - - . - 3064 2112
K10 - - - - | 1963 | 787 | 3105 | 1929 | 4247 | 3071 | 5390 | 4214 @ 6532 | 5356 | 3405 = 2346
K11 - - - - - - | 2844 | 1551 | 3986 | 2693 | 5129 | 3836 | 6271 | 4978 | 3745 @ 2581
K12 - - . : : - | 2584 | 1172 | 3726 | 2314 | 4869 | 3457 6011 4599 | 4086 = 2816
K7 2028 | 869 | - - : - - - - - : - - - 2880 1837
K8 1736 | 411 | 2550 | 1225 | - - : - - - - - - - 3292 2100
K9 . - | 2259 | 768 | 3gg7 | 2396 | - | - | - - - - . - 3703 2362
K10 s - 11967 | 311 | 3596 | 1939 | 5223 | 3567 | - . . - - - 4115 2624
K11 - - e - 13303 | 1482 | 4931 | 3110 | 6559 | 4738 - - : - 4526 2887
SR-400 - 1
K12 : s = - | 3012 | 1025 | 4640 | 2653 | 6268 | 4281 | 7895 | 5908 | 9523 | 7536 | 4938 @ 3149
K13 - - - - . - | 4348 | 2195 | 5976 | 3823 | 7603 | 5450 | 9231 | 7078 | 5349 | 3412
K14 E - - - : - | 4057 | 1738 | 5685 | 3366 | 7312 | 4993 | 8940 | 6621 | 5761 3674
K15 - - - - s - | 3765 | 1281 | 5393 | 2909 | 7020 | 4536 | 8648 | 6164 | 6172 = 3937
K16 : - - : - - = - | 5101 | 2452 | 6728 | 4079 | 8356 | 5707 | 6584 | 4199

06 wwwjczkv.com



JCZKV TiIBE

L R 8 FH o

A PR ]
A&

BE L

\ J
s D
- 40 —# el
. 2 Ny 1/ 20
2-GI/4" ot |5
_\ = =
3 ¥ {_;‘i _H'_:bh_

DA/SR-32 “—o

il Y
L

=
) X ©
s
|/

==l
/]

e s
I 45 3
4-M5% 8 32 o _ ]

e
T

—I_
L
"F ~
u FY
DA/SR-40 )
o+ -\-\' ... *
7 “ S HH ) B |k
& U/NAMURG‘:A I5H f\ " a0
Iy L 2N | |
UT 7z,
Py Fa / ¥ \I &
j 122 F'J " 285 | %5
2 7
P i,
e
] (L,
SRR (DX DT
HL kj L H
\ J

wwwijczkv.com 07




Focus On Automatic Control Valve Production |

T EREEE

T =
| i
J1
L T+ iy
4xK o
. q} N P = ™
T DD i)
i NS 7l 5
-« H;‘“H
z ,.
— =
F__,-*’f-— —.;M"‘m
- 4M5'8 1
— TNAMUR
N Lany 1l
5 8BS ' |
‘T‘ \‘._._.-___.J_f —
___ —_U_f,
A I.-_—I_E |:|__I:_ —1-

G1/4"NAMUR#R/E

— .
i e s "._\‘
I." __.::I;h ).;;:_—_:-.\\I 'I.I

s :
|I L \\I'I' I W
T 7]

G1/2"NAMUR#R/E

Hji 1788 =% R T & HJ Actuator Installation Size Table

... 1 0 Il N = I e s
=Model
DellﬂllIIHEIll“lllllllIlﬂlllllﬂllllllﬂllllllﬂllﬁﬁﬁﬂl

DA/SR-32
 DA/SR-40
DA/SR-52

DA/SR-63

DA/SR-75
DA/SR-83
DA/SR-92

DA/SR-105 |

DA/SR-125
DA/SR-140
DA/SR-160

DA/SR-190

DA/SR-210
DA/SR-240
DA/SR-270

DA/SR-300
DA/SR-350

DA/SR-400

23 |23 |46 | 4 | 66 | 46

285 | 365
0 415
%6 | 47
4 | 53
46 | 57
50 | 585
575 | 64
675 | 745
75 | 77
87 | 87
103 103
113 | 113
130 | 130
147 | 147
162 174
190 | 195
260 | 260

60 60 80

655
81
A

111

1225

1455

161

184

| 215

2355
2645
299
330

483

466

72
88
995

133
155
172
197
230
255
289
326
350
410
466

1195
985 1085 1287
1165 | 1365
153

260

356

| 52
65
72
81
92
9%

92
108

185 1275 |

202 1375

227 | 159
285
319 | 245

380 312

49 @ 298

1095 |

189 |
210

273 |

:365:

_30

30

30

30

30

30
30
30
30
30
30
30
30
30
30
30
30

S 88| 8 8|8 8|8

130

130
130
130
130

130

130
130
130

“0336

P36
®50
®50
®50
®50
@70
@70
®102
®102

®165
@165

036

50
®50

®70

®70 |
®70

®70 |
®102
D102
D125
®125
140
140
D165
D165
®165
254
®254

M5x8

M5x8

M6x10 |

M6 x 10
M6 x 10
M6 x 10

MBx 13

M8x 13
M10x 16

M10x 16

M5 x 8
M6 x 10
M6 x 10
M8x 13
M8x 13
M8x13
M8x13
M10x 16
M10x 16
M12 %20
M12x20
M16 x 25
M16 x 25
M20 x 25

M20 x 25

M20 x 25

M20x 25 8xM16x 25
M20x25 8xM16x25

11

11
14
14
17
17
22
22
27
27
36
3

()

S5 & & & &

| 110

—
14
18

18
21

2

26
26
31

31
40
40
50
50
| 50

50
50

122
147
168
184
204
262

- 268

301
390

458

525
532
602
718
760
920

: ®40
| 40

D40
- 40

D40
| D40
| 40

®55
| @55
. 55
- 080
- 080

®80

®80
- 80
. 80
80

NAMUR G1/4"

- NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

NAMUR G1/4"

' NAMUR G1/4"
NAMUR G1/4"

NAMUR G1/4"

' NAMUR G1/2"
NAMUR G1/2"

NAMUR G1/2"

' NAMUR G1/2"

08 wwwjczkv.com



